turn:=0;
m:cobegin Py || P coend;

n
Py P
ko:while(true)do ki:while(true)do
NCq:wait (turn==0) ; NCq:wait (turn==1);
CRp:turn:=1; CRq:turn:=0;
endwhile endwhile
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pc = m, pco = pc; = false, pc’ = m, pcl, = ko, pcy = k1
pco = ko A true, pcy = NCy

pco = ko A\ —true, pcy =l

pco = NCo, turn =1, pcy = NCj

pco = NCo, turn = 0, pcy = CRy

pco = C Ry, turn’ = 1, pcy = ko

pc1 = k1 A true, pc) = NCy

pc1 = k1 A —true, pc) =11

pc1 = NCqp,turn =0, pcj = NC

pc1 = NCi, turn =1, pcd) = CR;

pc1 = CRy, turn’ = 0, pc| = k1

pc =m, pco = lg, pc1 = 11, pc’ = n,pc, = false, pc| = false



